HEBILBEAEALRER

HEEUEEXD BRINTHRE

(8) wHeF4H1H

FSHEAR (BT EMIRERER)

() HM743H31H

(847 : [)
BIERE AED ErEEE ast PEBERS |72 FERHAG

REBZIRA 135, 614, 629 135, 614, 629 135, 614, 629
BALFISHHEIRIRA 0 0
EREETWRINA 0 0

IR | SZEFI S ECEEUNA 753 267,982 268, 735 268, 735

A | R HEE R TE ET & FEFIBURA 0 0

i ZOMOEA 1,573,897 1,573,897 1,573,897
w| | REERmSS S ESIRNEA 0 0
5| |BEERRAG (1) 753 137, 456, 508 137,457, 261 137,457, 261
| | arE® 105, 978, 660 105, 978, 660 105, 978, 660
EEE 792, 760 10,840,513 11,633,273 11,633,273
fy BHERL 130,573 8,807, 986 8,938, 559 8,938, 559
o | 2 |amEsn 0 0
| SIEILE S TS A R FIR T 0 0
ZoMoIH 28,308 28,308 28,308
BT THES (LA R 0 0
EREHTHE (2) 923,333 125, 655, 467 126, 578, 800 126, 578, 800
BEEHERNEER (3) = (1) - (2) -922, 580 11,801, 041 10,878, 461 10,878, 461
TR R SR ULA 0 0

TR RSB RULA 0 0

. RREAREARIRA 0 0

5| 5, [HEEAESHERBRHAREARIIA 0 0
®|  |EEEmEsRA 0 0
2| | 20oMomREmECLBmA 0 0
z TR REAGT (4) 0 0 0 0
o|  |eEEREALTamERy 0 0
| |HEEEsEE R RESEAR TR 0 0
3 EE&ERSZ 5,975, 992 5,975,992 5,975,992
£ o | EVESERRD - BesE 0 0
2|7 p R U-REBOEE R 0 0
ZOMOME RS LB 0 0
MR mE et (5) 0 5,975, 992 5,975,992 5,975,992
MRS ESINTER (6) = (4) — (5) 0 -5,975, 992 5,975, 992 -5, 975, 992
ERESAREARTRADETHRUINA 0 0
EHEEEREARINA 0 0
BESEIMEARIA 0 0
HEEILSS IR RMEREREARINA 0 0
R REIRRA 0 0
ML 2B R AR REIRA 0 0
AT HUA 0 0

IR | TR 22,028, 308 22,028, 308 22,028, 308

A | BRI HRBEASIA 0 0
PARS SRS ARIRA 0 0
BERHRIEMET RERULA 0 0

2| |[BAESRIRMEREIRIRA 0 0
0| |BEERHSEEASRA 0 0
fl2]| MRS RHEASIIA 0 0
1 |zofoEBICEBRA 0 0
g ZOMOEBIRAG (7) 0 22,028, 308 22,028, 308 22,028, 308
| |FemERESEASTEESY 0 0
| |rEsEBEAsTomERY 0 0
3| |iaEibEsEEE RS EREALTRMESTY 0 0
W | emedess 0 0
| tambse R S 0 0
REEMESEGZ L 0 0

i ivA=1:3-2xx) 23,699, 372 23,699, 372 23,699, 372

o, |FERSMRB S 0 0
AR SIRIRME T R 0 0
FERSMEMBADEHZ 0 0
AR SIRIEIMEA SEHZ 0 0
FERSMEASTE 0 0
WARSIRHRARTH 0 0
ZOMDEBIC LB 0 0
TOMOESZHET (8) 0 23,699, 372 23,699, 372 23,699, 372
ZOMOEMESINTER (9) = (7) — (8) 0 1,671,064 1,671, 064 ~1,671, 064
LEAERINZEEESST (10) = (3) + (6) + (9) -922, 580 4,153,985 3,231,405 3,231,405
BIERSHAERTERS (11) 2,089, 285 18,391, 620 20, 480, 905 20, 480, 905
WERZINERES (10) + (11) 1,166, 705 22, 545, 605 23,712,310 23,712,310




